H & 0l & AHS B Ml A

A SAITHAE D
B ABCAIZH
Rl B2 Al EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CAITH A D 7,327,787 17,304,052 19,976,265
) 1,014,000
== 85,000
[Ea 6,228,787
FEEAEE 5,879,054 16,000, 166 A10,121,112
= 1,014,000
Ea 4,865,054
2T Al 1,799,214 13,549,596 211,750,382
CAAE =8 1,266,820 709,060 567,760
201 fet=23y| 48,020 46,660 1,360
01 AtR2te|HI 24,520 23,160 1,360
oz HERAS S ?A HH € HA=E
100,0002 x102 %152 15,000
STAANESR =N S|
8,000& 7 & 170 9,520
2 s5=34l 23,500 23,500 0
o AIAEEEH A 2| AAEF 22l
250,000, 0002 %% 22,500
cEXHLEI S/N S22l
1,000,000 *14] 1,000
202 04l 16,800 14,400 2,400
01 2LHoIH 16,800 14,400 2,400
SEAAEER =X
20,0003 x7H*120 16,800
203 HR=4Y] 2,000 3,000 21,000
03 A= PR FA| 2,000 3,000 A1,000
ST AHEYR & 500,000 *4= 7| 2,000
401 AIEHIZ SR OHYI 1,200,000 645,000 555,000
01 Al&HI 1,200,000 615,000 585,000
cd&CHE & 9
1,200,000,000& *14] 1,200,000
Kottt 2tel 171,136 101,136 70,000
201 er23| 50,136 50,136 0
01 At2teltl 19,800 19,800 0
oHAXIGHAE MI|eHM 2telt]
3,600,000 %14 3,600
oZdXlotiE 52| 2eld]
4,200,000 * 14 4,200
oZdXotxtE Ha Ha|
12,000,000 * 14| 12,000
2 s5=34l 30,336 30,336 0
- L=PNII PN S DI RA= )
27,600,000 *14] 27,600
oZdXotitT QEHE 3ld AIE=
1,536,000& *14] 1,536
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A SAITHAE D
M FATAXH

Rl B2 Al EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ogdd ot sHIICCV 28 AE=
1,200,000 %14 1,200
401 AIZHIX R0 121,000 51,000 70,000
01 AlZH| 121,000 51,000 70,000
oddXlotiz FAl2el 121,000
-2 ERE F& 24,000,00024* 14! 24,000
- 12,000,000 * 14| 12,000
-Le[HIOIe =23 wkl
15,000,000 * 14 15,000
-L2HIOIH EUE R (2HA)
50,000,000& » 14! 50,000
-HLEHEY 20,000,000& *14| 20,000
sl 2EAl =4 14,400 14,400
201 er23 | 14,400 14,400
2 s5=4g4l 14,400 14,400
ogE2E ks 14,400
~20|01 B2 ®I|Q2
3,600,000 %14 3,600
—ChEe BEE ®)IQ3
3,600,000& *14] 3,600
HeD EPAW U FAZI M)IQ3
7,200,000 14 7,200
SIS Ol st EE A 346,858 748,000 AN401,142
401 AIEHIX 20HH 346,858 748,000 AN401,142
01 AlZ2H| 346,858 744,000 A397,142
oz U UM HMEStu ZdA
346,858,000 x14] 346,858
H RISt 2tel 1,144,000 1,223,100 AT79,100
= 1,014,000
s 130,000
RS 2el(Ex) 24,000 23,100 900
= 24,000
201 et 3| 24,000 23,100 900
[ 24,000
01 At22te|Hl 24,000 23,100 900
STHYLHETY 2ol ARRE 7Y S
24,000,000 *14] 24,000
[ 24,000
N MBS MED|BHAIY 1,120,000 700,000 420,000
= 990,000
Ea 130,000
401 AIEHIX 20HH 1,120,000 700,000 420,000
[ 990,000
s 130,000
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1

L SAITHAD
F2EAES
N st 22 (ol
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 1,113,000 696,000 417,000
odH 30litE 22 A SA
397,000,000 * 14 397,000
= 360,000
Ea 37,000
odH due| IENES T2 EEEIA
696,000,000 *14] 696,000
[ 630,000
Ea 66,000
SIEHES W AIE2 =Al2 20,000
03 AIZ2THYI 7,000 4,000 3,000
cIHENe S eI BAY
7,000,000 *14 7,000
SSLAS I3 & O 109,050 9,050 100,000
S30Xe =8 109,050 9,050 100,000
201 =3 9,050 9,050 0
01 At22t2lH] 9,050 9,080 0
oCIXte! OI0IX &
,500,000& * 14 1,500
olIXtel 2 ATEQN H2AALER
1,500,0002 25 3,000
oSN ARS AN2E
70,0002 13 53] 4,550
207 ARl 100,000 100,000
NEEEETT 100,000 100,000
oMY CITHR! JI=HE 48 29
100,000,000 14 100,000
CAIDHE 2t 2,826,790 1,218,420 1,608,370
CAAHEEZ JHE 2,475,190 902,620 1,572,570
201 eer23y| 7,600 10,920 A3,320
01 AtR2t2|HI 6,400 6,720 A320
o ADHE R =& SEH|
8,0003 x4 =200 6,400
02 3224l 1,200 4,200 A3,000
o2 ME=E k2=
100,000& «12& 1,200
202 04l 8,000 5,600 2,400
01 =LHAHI 8,000 5,600 2,400
o ADHE YR =8
20,0002 x4 =100 8,000
401 AlZHIZ SO 2,459,590 886,100 1,573,490
01 AlZ28| 2,450,590 880,000 1,570,590
oA FELUsHE 2 TAHEEZ
He 850,590,000& *14] 850,590
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2A:

S AIRH A4 D

B ABCAIZH
et TADHE 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAl XX olE HEE
200,000,000 » 14 200,000
ogd 2= HEllE TAHERZ e
800,000,000 *14] 800,000
o AHEEZ FXlZel
600,000,000& x14] 600,000
03 Al 20HHI 9,000 6,100 2,900
SEANEER HaZX
9,000,000 %14 9,000
REATZ e 100,000 20,000 70,000
401 AlEHI L2 ] 100,000 30,000 70,000
01 Al&H| 100,000 30,000 70,000
oMFANER RX2
30,000,000 *14! 30,000
SNMHER a3 HE 42 B
70,000,000& *14] 70,000
2= 2 129,200 82,500 46,700
201 er2 3| 29,200 22,500 6,700
01 AtR2telHl 10,000 11,100 1,100
o=2Z1=E B FAZHI
400,000+ 123 4,800
o2 DS FY I 7Y
100,000& * 110K 2 1,100
o= NS AORARS 2
100,000& x5 *13] 500
o=F2FllE gF TN UE AFRES
= 300,000& * 128 3,600
02 s3=gHl 19,200 11,400 7,800
oEEE S dIIKes 1,600,000& x12& 19,200
401 Al HIZL 201 100,000 60,000 40,000
01 AlZHI 100,000 60,000 40,000
SEHSUHAU & SEAE 72
100,000,000 *14] 100,000
CAITHY 112,400 203,300 80,900
101 @1A4H| 80,000 80,000 0
04 JIZtN22 XS E 80,000 80,000 0
ST AITHAXIAME 12|
80,000,000 *14! 80,000
201 2= 32,400 22,400 10,000
01 At2t2lt] 30,000 20,000 10,000
STAIMHAXZME 28 AtR22ld]
30,000,000 %14 30,000
2 s5=34l 2,400 2,400 0
S AMAXAME S32= s
200,000 x 12 2,400
SYHEl? =5 10,000 0 10,000
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2A:

S AIRH A4 D

B ABCAIZH
SRl SADpg e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 10,000 10,000
03 A2 CHYI 10,000 10,000
oERINLEP =01 HE ZHl X
10,000,000& * 14 10,000
SSAEXNE 13,840 12,560 1,280
SSAEXE 13,840 12,560 1,280
SSAIERE 13,840 12,560 1,280
201 el 7,440 7,440 0
01 AlR2telHl 7,440 7,440 0
CTTALNALS =T S|
8,000 x4 » 170! 5,440
oESANENELR T ARES 78
25,0003 *105+82 2,000
202 04| 6,400 5,120 1,280
01 201 6.400 5,120 1,280
CTTALNALS XX
20,0003 4 & »80 6.400
k] = 1,348,432 1,186,768 161,664
s 85,000
s 1,263,432
sHE =E= 2al 53,340 33,340 20,000
s0HE wE=2 =8Y 2 53,340 33,340 20,000
201 =3 2,620 2,620 0
01 At22t2lH] 2,620 2,620 0
oCge 2¢ S0l HE MRES 7Y
20,0003 *7E+52 700
oCgY 28 H 2AcYR A S|
8,000& =3 +80& 1,920
202 04| 720 720
01 2L AL 720 720
oEE g & YR FA
20,0003 28 18 720
401 Al HIZL 201 50,000 30,000 20,000
01 Al&H| 50,000 30,000 20,000
Y8 FUSSAE EFAL
50,000,000& » 14 50,000
s E HIOIEE &4 26,910 26,910 0
HOtEsE =9 26,910 26,910 0
201 er2 3| 6,160 6,160 0
01 AtR2t2|HI 560 560 0
otiitzd 289d: B4+
70,0002 x4 +23] 560
2 S52g4l 5,600 5,600 0
SHIDIZY 3323 (8], 4otk S)
500,000 102 5,000
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ST AT
NI MAQSEA
Cigl m0IE HIOIRY X4 o
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oAld2e] & HHIFA 100,000 6 600
206 M=l 750 750
01 MZH| 750 750
oxZel8 ME PY (M=, &M S)
25,0008 x105+33] 750
401 Al HIZ R 0HbI 20,000 20,000
01 Al&HI 20,000 20,000
oHOIEE AIES RAl
20,000,000 *14{ 20,000
3 =02l 1,265,862 1,124,678 141,184
= 85,000
o 1,180,862
OIS EAE 143,074 21,678 121,3%
= 70,000
o 73,074
101 e124d| 3,874 2,478 1,3%
04 JIZtN2 2N S 2+ 3,874 2,478 1,3%
oHANIS BIAY B2 oI
163,6703 6 x4 3,689
o4l 2= 3,688,080 *5% 185
201 Ler23| 19,200 19,200
2 s5=34l 19,200 19,200
odJ| & £Hl |RAl2el
1,600,0002 122 19,200
401 AlZHIZ SO 120,000 0 120,000
== 70,000
o 50,000
01 Al&HI 120,000 120,000
ogd el NEEAY EISd AL B9
50,000,000& * 14| 50,000
oS0/ MBS SFXEME (AL
KISOREALS) 70,000,000 70,000
= 70,000
A= dSA2 N SA 52,480 532,757 A480,277
101 @124H| 13,716 13,163 553
MU ORINZENSES 13,716 13,163 553
ocHEH=0IS DAL B2l oY
153,670 x5 * 17 13,062
cAUEE = 13,061,950 +5% 654
201 =3 7,044 7,874 A830
01 AtR2t2l] 1,284 1,034 250
cgEHE2 M S F4 22 7Y
,000& * 122 360
oStEHZ 2 2el M| ¢
1,680& *500H 84
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2A:

M MAMSEY
ool &3 d=0=2el (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SN 5 428 7Y
70,0002+ 128 840
02 S3=gHl 5,760 6,840 /1,080
ostsHERa dIRs 100,000& * 12 1,200
oESHES AR 150,000 »12& 1,800
ogtEHE R dot=k K=
20,0002 12 240
o= FAl2cl 200,000& 12 2,400
o&J| & £Hl |2l
10,0002« 128 120
202 04| 720 720
01 =LHOLI 720 720
cHEH=0IS 29 U YR £X
20,0003 2& »18& 720
206 MH=Hl 1,000 1,000
01 MZH| 1,000 1,000
oXgAlE 2l Mz ¥
1,000,000 19K 2 1,000
401 Al HI L 2] 30,000 510,000 480,000
01 Al&H| 30,000 510,000 480,000
oBEH=0IS ) KOV &K
10,000,000 *2JH 2= 20,000
oZBAEE X € |A2
10,000,000& » 14 10,000
H8d=0lexd 1,040,308 10,308 1,030,000
201 er23| 9,288 9,288 0
01 AtR2te|HI 9,288 9,288 0
oAt =0 T2 s10= H HIe S
3,600,000& *23] 7,200
oHdd=0ls TdAY =& =]
8,0002 38 +87 2,088
202 04l 1,020 1,020
01 =LHAHI 1,020 1,020
oH4d=0ls ZEAE FA
20,0003 3 » 17 1,020
401 AlZHIZ SO 30,000 30,000
01 A28l 30,000 30,000
CBHHR 01& AW} 242 S
30,000,000 * 14! 30,000
403 AXIEHHSAH=0l 1,000,000 1,000,000
02 SIS0t =S A A 1,000,000 1,000,000
cHHH=0S SHHZ 0IZAS (BHN)
1,000,000,000& » 14 1,000,000
=0t etsA=H XA 30,000 0 30,000
=S 15,000
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2A:

S AIRH A4 D

M MANSEA
el MY d=0tS2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 15,000
402 2IZtA=01d 30,000 0 30,000
=S 15,000
s 15,000
02 RIINEASEZ(0IETHR) 30,000 0 30,000
c2EAF0IS et=zA=H N
30,000,000 *14{ 30,000
< 15,000
s 15,000
AFHH 2 2,320 1,840 480
SSTH Qe 2,320 1,840 480
201 er2 3| 960 800 160
01 AtR2telHl 960 800 160
oZSFH 25IHHR =N SEH
8,000 x2& +60! 960
202 04| 1,360 1,040 320
01 =LHOLI 1,360 1,040 320
oEZSFH QoI & XI=
20,0003 x2& »342 1,360
HH2LZHI(ZAITHA D) 86,461 96,558 A10,097
el 2| 58,901 68,998 /10,097
el E2d| 58,901 68,998 /10,097
101 21AH| 58,901 68,998 /10,097
01 2= 56,096 68,998 12,902
oAZRZ2R+E
11,1303 20 #21A1 2t 123 56,096
02 JIEtME = 2,805 0 2,805
SARIRIZRFE(IIN 724 )
11,1302+ 1 521A1 2 123 2,805
Jl=23H| 27,560 27,560 0
Jl=23H] 27,560 27,560 0
201 ZBt=3hl 23,360 23,360 0
01 AtR2te|HI 23,360 23,360 0
oIS E Y 3002 +3,0000H 900
cHEALEY & MAH & 24 MM S
NEN 5,000 x500% 2,500
o=SAEA 7Y 25,0003 +202 A 43| 2,000
oSAD| EH,E8 300,000 x5 *43] 6,000
oIglE & 250,000 +5CH*43 5,000
cAHIANRES 7 8,0002x205+62] 960
b= 4,800
-S2Al 20,0002 6%+ 122 1,200
- 15,0002 x205* 122 3,600
oIl 7Al2el 50,000& * 122 600
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H2HHI(TAITHA D)

S AIRH 24 0t
23l

t=1

2A:
SH X4

XY ZH +

o™

od
i’
oF
uJ

o

=aak

-

KIO

Hlw

HMEE
Ofl &k2h

4,200

4,200

Ofl &F2H

600
4,200
4,200
4,200

- SRA(3) - HIRAEY

- HyS

S - B

.

il

il

RO
R0

M0

50,000 * 123

Kl
KF
oF
ol

0B
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350,000& * 128




